Model 400A-96SS-120
Stainless Steel Hydra-Lift,

The Specialist In Drum Handli;g—Equipment 96”, AC Power Lift, Manual Tilt

Parts List and Diagram for Morse Stainless Steel Hydra-Lift Karrier Model 400A-96SS-120
Serial Number 0914 to 0117 (MMYY)

IMPORTANT
NOTE

4-Digit serial numbers
are simply the month
& year of manufacture

ITEM#  QTY. PART # DESCRIPTION
Example: 0802 is 1 1 4519-96SS-P | OVERHEAD ASM, MOR, 400A-96SS
August 2002 2 4 1521SS-P | HHCS, 3/8-16 X 3, SS

3 4 1166SS-P | WASHER, 3/8 USS, SS
4 2 134-84SS-P | LEG WELD, 400A-96SS SS
5 2 5329SS-P | AXLE, GROOVE, 3/4 X 3.35” SS
6 2 5330SS-P | SNAP RING, EXT, SS, 3/4”
7+ 2 87-P WHEEL, MORTUF, 8’, 3/4” BRG
8 3 5347SS-P | SNAP RING, EXT, SS, 5/8”
9 4 17SS-P WASHER, 5/8 SAE 1-5/16 OD, SS
10 * 2 3308-P CASTER, 4” SWIVEL, DBL RACE
11 8 491-P NUT, LOCK, 5/16-18 REV HEX
12 3 5348SS-P | PIN, GROOVE, 5/8 X 3.12 SS
13 4 3981SS-P | NUT, 3/8-16 NYLON LOCK, SS
14 8 2158S-P | HHCS, 5/16-18 X 5/8, SS
16 1 3006-P CYLINDER, 1.5 X 29 510 515 611
17 2 136-P GRIP, HANDLE 7/8” X 4-3/4”
18 1 3999SS-P | ASM, TOWER, 400A-96, SS
19 1 3680SS-P | BOTTOM SECTION, KD, 86-SS
20 1 13158S-P | HHCS, 3/8-16 X 2-3/4 SS
21 1 3641SS-P | U-BOLT, 3/8-16 SS, PUMP MOUNT
22 1 36435S-P | MOUNT, POWER PUMP, 400, SS
23 7 14745S-P | WASHER, 3/8 SPLIT LOCK, SS
24 6 3981SS-P | NUT, 3/8-16 NYLON LOCK, SS
25 5 1657SS-P | HHCS, 3/8-16 X 3/4 SS
26 1 1165S8S-P | NUT, 3/8-16 JAM SS
27 1 3689-P HYD HOSE ASM, 31
28 1 345-P HYD FIT, MALE FLARE, 456, 82
31 4 5358S-P | HHCS, 3/8-16 X 1-1/4, SS
32 1 M4509-P | HYD POWER PACK, -120, -124
33 1 1062-P MOTOR 1HP 1PH TEFC 56C W/ CORD
34 1 3633-P TOGGLE SWITCH, MOMENTARY, 400
35 1 2386-P FLOOR LOCK, STEP DOWN 5-3/4”
* Recommended spare parts.

morsedrum.com
Copyright 2017 - Morse Mfg. Co., Inc. Form PL400A-96SS-120 (0914-0117) (Updated March 13, 2018 10:24 AM)


http://morsedrum.com

. ®

;}\0\2 N Model 400A-96SS-120

N\
m B | @\l - Stainless Steel Hydra-Lift,

The Specialist In Drum Handling Equipment 96”, AC Power Lift, Manual Tilt

Parts List and Diagram for Morse Stainless Steel Hydra-Lift Karrier Model 400A-96SS-120
Serial Number 0914 to 0117 (MMYY)

SEE CYLINDER
PARTS DIAGRAM
FOR EXPLODED

VIEW

8 A ——

SEE PUMP
PARTS DIAGRAM
FOR EXPLODED

O
N
) N
=
'4
e

morsedrum.com
Copyright 2017 - Morse Mfg. Co., Inc. Form PL400A-96SS-120 (0914-0117) (Updated March 13,2018 10:24 AM) 2


http://morsedrum.com

